

# *m*-quasi Einstein Metric and Paracontact Geometry

## Krishnendu De, Uday Chand De\* and Fatemah Mofarreh

(Communicated by Cihan Özgür)

## ABSTRACT

The object of the upcoming article is to characterize paracontact metric manifolds admitting *m*quasi Einstein metric. First we establish that if the metric *g* in a *K*-paracontact manifold is the *m*-quasi Einstein metric, then the manifold is of constant scalar curvature. Furthermore, we classify  $(k, \mu)$ -paracontact metric manifolds whose metric is *m*-quasi Einstein metric. Finally, we construct a non-trivial example of such a manifold.

*Keywords:* m-quasi Einstein metric, K-paracontact metric manifolds,  $(k, \mu)$ -paracontact metric manifolds. *AMS Subject Classification (2020):* Primary: 53C15 ; Secondary: 53C25; 53D10.

## 1. Introduction

Kaneyuki and Williams [14] introduced a new subclass of contact metric manifolds called paracontact metric manifolds, in 1985. Several authors researched and generalized the manifold after that. Many geometers considered the manifold to be an interesting topic (see, [1], [2], [9], [10], [11], [15] and references therein). Many relationships exist between paracontact geometry and various disciplines of mathematics, mathematical physics, and material sciences. It became popular among notable geometers due to its wide range of uses.

The study of Einstein metric in Riemannian and contact geometry play a significant role in recent geometrical research. Several generalizations of Einstein manifolds have recently been researched, including Ricci solitons, gradient Ricci solitons, generalized quasi-Einstein solitons, and so on. Catino [8] introduced the fascinating concept of generalized quasi-Einstein metric for investigating harmonic Weyl tensor, which is defined as follows (see [8]):

If a  $C^{\infty}$  manifold  $M^n$ , n > 2, admits a Riemannian metric g satisfying

$$S + \nabla^2 \delta = \alpha d\delta \otimes d\delta + \gamma g,$$

for some smooth functions  $\alpha$ ,  $\delta$  and  $\gamma$ , is called a generalized quasi-Einstein metric. Here, S denotes the Ricci tensor, d indicates the exterior derivative of g,  $\nabla^2$  being the Hessian operator and  $\otimes$  is the tensor product, respectively. If  $\alpha = \frac{1}{m}$  and  $\gamma \in \mathbb{R}$ , where m is an integer, then the above metric reduces to a m-quasi Einstein metric. Analogous to the definition in [13], a Riemannian metric g is called a m-quasi Einstein metric if there exists a smooth function  $\delta : M^n \to \mathbb{R}$  such that

$$S + \nabla^2 \delta - \frac{1}{m} d\delta \otimes d\delta = \gamma g, \tag{1.1}$$

where  $\gamma$  is a constant.

The *m*-Bakry-Emery Ricci tensor, which is proportional to the metric g and  $\gamma = \text{constant [17]}$ , is expressed as  $S + \nabla^2 \delta - \frac{1}{m} d\delta \otimes d\delta$ . Here, g, the Riemannian metric with constant potential function  $\delta$  is trivial and therefore, the manifold becomes an Einstein manifold. Moreover, the previous equation produces the gradient Ricci soliton for  $m = \infty$ . For m = 1, *m*-quasi Einstein metrics restore static metrics. These metrics have been thoroughly examined in general relativity.

Received: 07-04-2022, Accepted: 22-05-2022

<sup>\*</sup> Corresponding author

In the year 2011, Case et al. [6] studied quasi-Einstein metrics and establish many rigidity results. In this connection, we may mention the study of Case [5], where some non-existence outcomes were procured for quasi-Einstein metric. Further, for a complete K-contact manifold, Ghosh [12] established that the manifold is compact, Einstein, and Sasakian. Chen [7] has recently investigated quasi-Einstein structures in the setting of almost Cosymplectic manifolds.

The above mentioned works inspire us to investigate a *m*-quasi Einstein metric in paracontact metric manifolds. Especially, we characterize the *m*-quasi Einstein metric on *K*-paracontact metric manifolds and  $(k, \mu)$ -paracontact metric manifolds. Exactly, we prove the subsequent results:

**Theorem 1.1.** If the metric g is the m-quasi Einstein metric in a K-paracontact metric manifolds  $(M^{2n+1}, g)$ , then the manifold is of constant scalar curvature.

**Theorem 1.2.** Let  $M^{2n+1}$  be a  $(k, \mu)$ -paracontact metric manifolds with  $k \neq -1$ . If the metric g is a m-quasi Einstein metric, then either the manifold is locally isometric to a product of a flat manifold of dimension (n + 1) and a manifold of dimension n with negative constant curvature -4 or  $M^{2n+1}$  is Einstein.

**Theorem 1.3.** If the metric g in a  $(k, \mu)$ -paracontact metric manifolds  $(M^3, g)$  is the m-quasi Einstein metric, then either the scalar curvature is constant or the potential function  $\delta$  remains invariant under the Reeb vector field  $\xi$ .

## 2. Preliminaries

If a  $C^{\infty}$  manifold  $M^{2n+1}$  is endowed with a Reeb vector field  $\xi$ , a (1, 1)tensor  $\phi$ , and a 1-form  $\eta$  fulfilling the following conditions

$$\phi^2 = -I + \eta \otimes \xi, \tag{2.1}$$

$$\phi \xi = 0, \quad \eta \circ \phi = 0, \quad \eta(\xi) = 1,$$
(2.2)

then it has an almost paracontact metric structure ( $\phi$ ,  $\xi$ ,  $\eta$ ) (see [4], [14] and the tensor field  $\phi$  induces an almost paracomplex structure on each fibre of  $\mathcal{D} = \ker \eta$ .

Furthermore, if a semi-Riemannian metric *g* obeys

$$g(\xi, E) = \eta(E), \quad g(E, F) + g(\phi E, \phi F) = \eta(E)\eta(F),$$
(2.3)

then  $(\phi, \xi, \eta, g)$  is claimed to be an almost paracontact metric-structure and M an almost paracontact metric manifolds [16], for any vector fields E and  $F \in \chi(M)$ , where  $\chi(M)$  indicates the collection of all  $C^{\infty}$  vector fields of M.

The Nijenhuis torsion is defined by

$$[\phi, \phi](E, F) = [\phi E, \phi F] + \phi^2[E, F] - \phi[E, \phi F] - \phi[\phi E, F]$$

for any E,  $F \in \chi(M)$ . If  $\mathbf{N}_{\phi} = [\phi, \phi] - 2d\eta \otimes \xi$  vanishes, then the almost paracontact metric manifolds is called normal.  $\Phi(E, F) = g(E, \phi F)$  is the fundamental 2-form of the almost paracontact metric manifolds and Mequipped with structure  $(\phi, \xi, \eta, g)$  is known as a paracontact metric manifolds if  $d\eta(E, F) = g(E, \phi F)$ .

Two trace-free operator  $h = \frac{1}{2}\pounds_{\xi}\phi$  and  $l = R(.,\xi)\xi$  which are symmetric in a paracontact metric manifolds satisfies  $h\phi = -\phi h$ ,  $h\xi = 0 = l\xi$ ,  $Trh = Trh\phi = 0$  and

$$\nabla_E \xi = -\phi E + \phi h E, \quad \nabla_\xi h = -\phi + \phi h^2 - \phi l, \tag{2.4}$$

for all  $E \in \chi(M)$ . It should be noticed that  $\xi$  being Killing is identical to the condition h = 0, and then the manifold becomes a K-paracontact metric manifolds. A para-Sasakian manifold is one that satisfies the normality criterion in a paracontact metric manifolds. All para-Sasakian manifold is necessarily K-paracontact metric manifolds whereas the converse is not always true, but it holds in three dimension [2].

In a *K*-paracontact metric manifolds the following equations hold :

$$R(E,\xi)\xi = -E + \eta(E)\xi, \qquad (2.5)$$

$$\nabla_E \xi = -\phi E,\tag{2.6}$$

$$Q\xi = -2n\xi \tag{2.7}$$

$$(\nabla_E \phi)F = R(\xi, E)F, \tag{2.8}$$

$$(\nabla_{\phi E}\phi)\phi F - (\nabla_{E}\phi)F = 2g(E,F)\xi - \{E + \eta(E)\xi\}\eta(F),$$
(2.9)

for any  $E, F \in \chi(M)$ , where Ricci operator Q of M is given by g(QE, F) = S(E, F).

In [4], the authors presented the idea of  $(k, \mu)$ -nullity distribution in a paracontact metric manifolds, where  $k, \mu \in \mathbb{R}$  are constants.  $N(k, \mu)$  is the  $(k, \mu)$ -nullity distribution of M, which is defined by

$$\mathbf{N}(k,\mu): p \to \mathbf{N}_p(k,\mu) = \{ Z \in T_p M \mid R(E,F)Z = (\mu h + kI)(g(F,Z)E - g(E,Z)F) \}$$

for all vector fields  $E, F \in \chi(M)$ .

Definition 2.1. If *R*, the curvature tensor in a paracontact metric manifolds satisfies

$$R(E,F)\xi = k(\eta(F)E - \eta(E)F) + \mu(\eta(F)hE - \eta(E)hF),$$
(2.10)

then for any  $E, F \in \chi(M)$ , it is called a  $(k, \mu)$ -paracontact metric manifolds. A  $(k, \mu)$ -paracontact metric manifolds is said to be proper if  $k \neq 0$  and  $\mu \neq 0$ .

It's worth noting [3] that whereas  $k \le 1$  is required in the contact case, there is no similar requirement for k in the paracontact case. Furthermore, whereas k = 1 implies that the manifold is Sasakian in the contact case, k = -1 does not imply that the manifold is para-Sasakian in the paracontact case.

Presently we recollect some lemmas:

**Lemma 2.1.** [4] The Ricci operator Q is written by

$$QE = [2 - 2n + n\mu]E - [2 - 2n - \mu]hE - [2 - 2n - 2nk + n\mu]\eta(E)\xi,$$
(2.11)

for a  $(k, \mu)$ -paracontact metric manifolds  $M^{2n+1}$  with  $k \neq -1$ .

**Lemma 2.2.** [18, Theorem3.3] If a paracontact metric manifolds  $(M^{2n+1}, g)$  n > 1 obeys  $R(E, F)\xi = 0$ , then  $M^{2n+1}$ , is locally isometric to a product of a flat manifold of dimension (n + 1) and a manifold of dimension n with negative constant curvature -4.

**Lemma 2.3.** [12, Lemma 3.1 ] Every *m*-quasi Einstein metric satisfies the following:

$$R(E,F)D\delta = (\nabla_F Q)E - (\nabla_E Q)F + \frac{\gamma}{m} \{ (F\delta)E - (E\delta)F \} + \frac{1}{m} \{ (E\delta)QF - (F\delta)QE \},$$
(2.12)

for all  $E, F \in \chi(M)$ .

Zamkovoi [18] proved the following proposition : **Proposition 2.1.** In a para-Sasakian manifold  $M^{2n+1}$ , we have

$$S(E, \phi F) = -S(\phi E, F) - g(E, \phi F).$$
 (2.13)

## 3. Proof of the main Theorems

#### 3.1. Proof of Theorem 1.1

Here we first write the subsequent Lemma without proof (Since, in a *K*-paracontact metric manifolds  $\xi$  is Killing, the result can be obtained using (2.6)):

**Lemma 3.1.** For a K-paracontact metric manifolds  $(M^{2n+1}, g)$ , we have

$$\nabla_{\xi} Q = Q\phi - \phi Q. \tag{3.1}$$

Hence, executing the inner product of (2.12) with the Reeb vector field  $\xi$  and using the above Lemma and (2.8) we obtain

$$-g((\nabla_F \phi)E, D\delta) = g(\phi QF, E) + 2ng(\phi F, E) + \frac{\xi \delta}{m}g(QF, E) - \frac{\gamma}{m}(\xi \delta)g(E, F) + \frac{\gamma + 2n}{m}(F\delta)\eta(E).$$
(3.2)

Using (2.9) in (3.2), we get

$$2g(E,F)(\xi\delta) - [(F\delta) + \eta(F)(\xi\delta)]\eta(E)$$
  
=  $g((\phi Q + Q\phi)F, E) + 4ng(\phi F, E) + \frac{\xi\delta}{m}g(QF + \phi Q\phi F, E)$   
 $-2\frac{\gamma}{m}(\xi\delta)g(E,F) + \frac{\gamma + 2n}{m}(F\delta)\eta(E) + \frac{\gamma}{m}(\xi\delta)\eta(E)\eta(F).$  (3.3)

Anti-symmetrizing the previous equation gives

$$(E\delta)\eta(F) - (F\delta)\eta(E) = 2g((\phi Q + Q\phi)F, E) + 8ng(\phi F, E) + \frac{\gamma + 2n}{m}[(F\delta)\eta(E) - (E\delta)\eta(F)].$$
(3.4)

Replacing *F* by  $\xi$  and using Proposition 2.1 the foregoing equation provides

$$\{\frac{\gamma+2n}{m}+1\}[(\xi\delta)\eta(E) - (E\delta)] = 0.$$
(3.5)

This shows that either  $\gamma + 2n + m \neq 0$  or  $\gamma + 2n + m = 0$ .

Case (i): If  $\gamma + 2n + m \neq 0$ , then we have  $(E\delta) = (\xi\delta)\eta(E)$ . From this we have  $d\delta = (\xi\delta)\eta$ , where *d* indicates the exterior differentiation. Again, exterior derivative of the last equation produces  $d^2\delta = d(\xi\delta) \wedge \eta + (\xi\delta)d\eta$ . Applying Poincare lemma  $d^2 \equiv 0$  in the previous equation and then taking wedge product with  $\eta$  we get  $(\xi\delta)\eta \wedge d\eta = 0$ . Therefore,  $\xi\delta = 0$ , since  $\eta \wedge d\eta \neq 0$  in  $M^{2n+1}$ . Thus we conclude that  $d\delta = 0$  and hence  $\delta$  is constant. Then from equation (1.1) we infer that  $M^{2n+1}$  is Einstein which implies that the scalar curvature is constant.

Case (ii): Now we consider the case  $\gamma + 2n + m = 0$ . Equation (1.1) can be written as

$$\nabla_E D\delta + QE = \frac{1}{m} (E\delta) D\delta + \gamma E.$$
(3.6)

Using (2.7) and (3.6), we can easily get

$$g(\nabla_{\xi} D\delta, \xi) = 2n + \frac{(\xi\delta)^2}{m} + \gamma.$$
(3.7)

Again, taking covariant differentiation of  $g(\xi, D\delta) = (\xi\delta)$  along  $\xi$ , we easily infer  $g(\nabla_{\xi} D\delta, \xi) = \xi(\xi\delta)$ , where we have used  $\nabla_{\xi}\xi = 0$ . Therefore

$$\xi(\xi\delta) = 2n + \frac{(\xi\delta)^2}{m} + \gamma.$$
(3.8)

Now contracting (2.12) over *E*, we get

$$S(F, D\delta) = \frac{Fr}{2} + \frac{2n\gamma}{m}(F\delta) + \frac{1}{m}((QF)\delta) - \frac{r}{m}(F\delta).$$
(3.9)

Replacing  $F = \xi$  in the foregoing equation, we obtain

$$(2n\gamma + 2nm - 2n - r)(\xi\delta) = 0.$$
(3.10)

Applying  $\gamma = -(m+2n)$ , the previous equation reduces to  $[r + 2n(2n+1)](\xi \delta) = 0$ . If  $(\xi \delta) = 0$ , then from (3.8) we have  $\gamma = -2n$ , which implies m = 0, a contradiction. Hence, we have r = -2n(2n+1) = constant.

Hence, the proof is finished.

#### 3.2. Proof of Theorem 1.2

First, from the equation (2.11) we obtain  $Q\xi = 2nk\xi$ . Using (2.4) and differentiating  $Q\xi = 2nk\xi$  along the vector field *E*, we infer

$$\nabla_E Q \xi = Q(\phi - \phi h)E - 2nk(\phi - \phi h)E.$$
(3.11)

Executing inner product operation of (2.12) and applying  $Q\xi = 2nk\xi$ , we lead

$$g(R(E,F)D\delta,\xi) = g((\nabla_F Q)E - (\nabla_E Q)F,\xi) + \frac{\gamma - 2nk}{m} \{ (F\delta)\eta(E) - (E\delta)\eta(F) \}.$$
(3.12)

Again, from (2.10), we get

$$g(R(E,F)D\delta,\xi) = -k\{\eta(F)(E\delta) - \eta(E)(F\delta)\} - \mu\{\eta(F)(hE\delta) - \eta(E)(hF\delta)\}.$$
(3.13)

Combining equation (3.12) and (3.13) reveal that

$$-k\{\eta(F)(E\delta) - \eta(E)(F\delta)\} - \mu\{\eta(F)((hE)\delta) - \eta(E)((hF)\delta)\}$$
  
=  $g((\nabla_F Q)E - (\nabla_E Q)F, \xi)$   
+  $\frac{\gamma - 2nk}{m}\{(F\delta)\eta(E) - (E\delta)\eta(F)\}.$  (3.14)

Now from (3.11), we can easily get  $g((\nabla_F Q)\xi,\xi) = 0$  and  $g((\nabla_\xi Q)F,\xi) = 0$ . Using this and replacing *F* by  $\xi$  in the preceding equation, we obtain

$$hE\delta = \frac{km - \gamma + 2nk}{m\mu} [\eta(E)(\xi\delta) - (E\delta)].$$
(3.15)

Differentiating the foregoing equation and applying (2.4), (3.6) and (3.15), we infer

$$(\nabla_E h)D\delta - hQE + \frac{k_1}{m}(E\delta)(\xi\delta)\xi + \gamma hE$$
  
=  $k_1\{(-\phi E + \phi hE) - \gamma E + QE + (E(\xi\delta))\xi\},$  (3.16)

where  $k_1 = \frac{km - \gamma + 2nk}{m\mu}$  = constant. Also, equation (3.6) reveals that

$$\xi(\xi\delta) + 2nk - \frac{(\xi\delta)^2}{m} - \gamma = 0,$$
(3.17)

where we have used  $Q\xi = 2nk\xi$ .

Parallelly, from (2.10) we have  $l = k\phi^2 + \mu h$ . Using this and  $h^2 = (k+1)\phi^2$  in (2.4), we obtain  $\nabla_{\xi}h = -\mu h\phi$ . Putting *E* by  $\xi$  in (3.16) and using (3.17),  $Q\xi = 2nk\xi$ ,  $\nabla_{\xi}h = -\mu h\phi$  it readily follows  $\mu hD\delta = 0$ . This shows that either  $\mu = 0$  or  $\mu \neq 0$ .

Case (i): In this case  $\mu = 0$ . Replacing *E*, *F* by  $\phi E$  and  $\phi F$  respectively in (3.12) and using (2.11),  $h^2 = (k+1)\phi^2$  we easily get  $k = \frac{\mu(n+1)}{2-\mu}$ . Applying  $\mu = 0$ , it readily follows k = 0. If k = 0, then the equation (2.10) yields  $R(E, F)\xi = 0$ . Therefore, from Lemma 2.2 we state that  $M^{2n+1}$ , n > 1 is locally isometric to a product of a flat manifold of dimension (n + 1) and a manifold of dimension n with negative constant curvature -4.

Case (ii): If  $\mu \neq 0$ , then  $hD\delta = 0$ . Now, operating h and using  $h^2 = (k+1)\phi^2$ , we have  $(k+1)\phi^2D\delta = 0$ . Since  $k \neq -1$ , we obtain  $d\delta = (\xi\delta)\xi$  and hence  $\delta$  is constant, following the proof of the previous theorem (in case (i)). Hence the manifold is Einstein.

Thus the proof is completed.

#### 3.3. Proof of Theorem 1.3

Let us consider  $M^3$ , a  $(k, \mu)$ -paracontact metric manifolds of dimension 3. In  $M^3$ , the subsequent relations hold [2]:

$$(\nabla_{\xi}h)E = \mu h(\phi E), \tag{3.18}$$

$$(\nabla_E \eta)F = -g(\phi E, F) + g(\phi h E, F), \tag{3.19}$$

$$\phi\xi = 2k\xi. \tag{3.20}$$

It is well known that in a Riemannian or a semi-Riemannian manifold of dimension 3, the curvature tensor takes the form

$$R(E,F)Z = g(F,Z)QE - g(E,Z)QF + S(F,Z)E - S(E,Z)F -\frac{r}{2}[g(F,Z)E - g(E,Z)F].$$
(3.21)

Replacing *Z* by  $\xi$  in (3.21) and using (2.10) we get

$$k(\eta(F)E - \eta(E)F) + \mu(\eta(F)hE - \eta(E)hF) = \eta(F)QE - \eta(E)QF + (2k - \frac{r}{2})[\eta(F)E - \eta(E)F].$$
(3.22)

Putting  $F = \xi$  in (3.22) and applying (3.20) and  $h\xi = 0$ , we obtain

$$QE = (\frac{r}{2} - k)E + (3k - \frac{r}{2})\eta(E)\xi + \mu hE,$$
(3.23)

that is,

$$S(E,F) = \left(\frac{r}{2} - k\right)g(E,F) + \left(3k - \frac{r}{2}\right)\eta(E)\eta(F) + \mu g(hE,F).$$
(3.24)

Now we establish the following lemma:

**Lemma 3.2.** In  $M^3(\eta, \xi, \phi, g)$ , we have

$$\xi r = 0 \tag{3.25}$$

*Proof.* Differentiating (3.23) covariantly in the direction of *E* and using (2.4) and (3.19), we infer

$$(\nabla_{E}Q)F = \frac{dr(E)}{2}(F - \eta(F)\xi)$$

$$(-\frac{r}{2} + 3k)[-g(\phi E, F)\xi + g(\phi hE, F)\xi - \eta(F)\phi E + \eta(F)\phi hE] + \mu(\nabla_{E}h)F.$$
(3.26)

From (3.26), we can write

$$g((\nabla_E Q)F, Z) = \frac{dr(E)}{2} [g(F, Z) - \eta(F)\eta(Z)] (-\frac{r}{2} + 3k)[-g(\phi E, F)\eta(Z) + g(\phi hE, F)\eta(Z) - \eta(F)g(\phi E, Z) + \eta(F)g(\phi hE, Z)] + \mu g((\nabla_E h)F, Z).$$

Putting  $E = Z = e_i$  in the foregoing equation and summing over i  $(1 \le i \le 2n + 1)$  and using  $divQ = \frac{1}{2}grad r$  and (3.18), where  $\{e_i\}$  is the orthonormal basis for the tangent space of M, we get  $\xi r = 0$ , the required result.  $\Box$ 

Now contracting (2.12) over the vector field E, we obtain

$$S(F, D\delta) = \frac{Fr}{2} + \frac{2\gamma}{m}(F\delta) + \frac{1}{m}((QF)\delta) - \frac{r}{m}(F\delta).$$
(3.27)

Again, from (3.24) we infer that

$$S(F, D\delta) = (\frac{r}{2} - k)(F\delta) + (3k - \frac{r}{2})\eta(F)(\xi\delta) + \mu((hF)\delta).$$
(3.28)

Combining the previous two equations and putting  $F = \xi$  reveal that

$$(r + 2mk - 2k - 2\gamma)(\xi\delta) = 0.$$
(3.29)

dergipark.org.tr/en/pub/iejg

This shows that either  $r = 2k(1-m) + 2\gamma$  or  $r \neq 2k(1-m) + 2\gamma$ .

Case (i): If  $r = 2k(1-m) + 2\gamma$ , then  $M^3$  is of constant scalar curvature, since  $k, m, \gamma$  are constant.

Case (ii): If  $r \neq 2k(1-m) + 2\gamma$ , then  $\xi \delta = 0$ .

This finishes the proof.

The *m*-quasi Einstein metric becomes gradient Ricci soliton when  $m = \infty$ , as we know. By putting  $m = \infty$  into (3.27), we get

$$S(F, D\delta) = \frac{Fr}{2}.$$
(3.30)

Combining the last equation with the equation (3.28) and replacing  $F = \xi$  infer that

$$k(\xi\delta) = 0. \tag{3.31}$$

Hence, we state:

**Corollary 3.1.** If in a proper  $(k, \mu)$ -paracontact metric manifolds  $(M^3, g)$ , the metric g be the gradient Ricci soliton, then the potential function  $\delta$  remains invariant under the Reeb vector field  $\xi$ .

## **4.** Example of a proper $(k, \mu)$ -paracontact manifold

We consider the 3-dimensional manifold  $M = \{(x, y, z) \in \mathbb{R}^3\}$ . Let the three linearly independent vector fields  $e_1, e_2$  and  $e_3$  obeying

$$[e_1, e_2] = -2e_3$$
 ,  $[e_1, e_3] = 2e_2$ 

and

 $[e_2, e_3] = 2e_1,$ 

generates M.

Let g be the semi-Riemannian metric defined by

$$g(e_1, e_1) = 1, g(e_2, e_2) = -1, g(e_3, e_3) = 1,$$

$$g(e_1,e_2)=g(e_1,e_3)=g(e_2,e_3)=0.$$
 Here, the 1-form  $\eta$  is defined by  $\eta(E)=g(E,e_1)$  for any vector field  $E\in\chi(M).$ 

Let  $\phi$  be the (1, 1) tensor field defined by

$$\phi(e_1) = 0, \quad \phi(e_2) = e_3, \quad \phi(e_3) = e_2$$

Then using the linearity of  $\phi$  and g we obtain

$$\eta(e_1) = 1,$$
  

$$\phi^2 E = E - \eta(E)e_1,$$
  

$$g(\phi E, \phi F) = -g(E, F) + \eta(E)\eta(F)$$

for any vector fields  $E, F \in \chi(M)$ .

Then for  $e_1 = \xi$ , the structure  $(\eta, \xi, \phi, g)$  defines a paracontact structure on M. Let  $e_1 = \xi$  and making use of Koszul's formula, we calculate the following

$$\nabla_{e_1} e_1 = 0, \quad \nabla_{e_1} e_2 = -e_3, \quad \nabla_{e_1} e_3 = -e_2, \\
\nabla_{e_2} e_1 = e_3, \quad \nabla_{e_2} e_2 = 0, \quad \nabla_{e_2} e_3 = -e_1, \\
\nabla_{e_3} e_1 = -3e_2, \quad \nabla_{e_3} e_2 = -3e_1, \quad \nabla_{e_3} e_3 = 0.$$
(4.1)

Applying (2.4) from the above we get  $he_1 = 0$ ,  $he_2 = 2e_2$  and  $he_3 = -2e_3$ .

With the help of the (4.1) it is simple to verify that

$$\begin{aligned} R(e_1, e_2)e_3 &= 0, \quad R(e_2, e_3)e_3 = -e_2, \quad R(e_1, e_3)e_3 = -e_1, \\ R(e_1, e_2)e_2 &= -7e_1, \quad R(e_2, e_3)e_2 = -e_3, \quad R(e_1, e_3)e_2 = 0, \\ R(e_1, e_2)e_1 &= -7e_2, \quad R(e_2, e_3)e_1 = 0, \quad R(e_1, e_3)e_1 = e_3. \end{aligned}$$

Using (2.10), from the above we easily infer that the constructed manifold is a  $(k, \mu)$ -paracontact manifold where k = 3 and  $\mu = 2$ .

## Acknowledgements

We would like to thank the referees and editor for reviewing the paper carefully and their valuable comments to improve the quality of the paper.

## Funding

The author Fatemah Mofarreh express her gratitude to Princess Nourah bint Abdulrahman University Researchers Supporting Project number (PNURSP 2022 R 27), Princess Nourah bint Abdulrahman University, Riyadh, Saudi Arabia

## Availability of data and materials

Not applicable.

## **Competing interests**

The authors declare that they have no competing interests.

## Author's contributions

All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.

## References

- [1] Blaga, A.M.: η-Ricci solitons on para-Kenmotsu manifolds, Balkan J. Geom. Appl. 20, 1-13 (2015).
- [2] Calvaruso, G.: Homogeneous paracontact metric three-manifolds, Illinois J. Math. 55, 697-718 (2011).
- [3] Calviño-Louza, E., Seone-Bascoy, J., Vázquez-Abal, M.E. and Vázquez-Lorenzo, R.: Three-dimensional homogeneous Lorentzian Yamabe solitons, Abh. Math. Semin. Univ. Hambg. 82, 193-203 (2012).
- [4] Cappelletti-Montano, B., Erken, I.K. and Murathan, C.: *Nullity conditions in paracontact geometry*, Differential Geom. Appl., **30**, 665-693 (2012).
- [5] Case, J.: On the non-existence of quasi-Einstein metrics, Pacific J. Math. 248, 227-284 (2010).
- [6] Case, J., Shu, Y. and Wei, G.: Rigidity of quasi-Einstein metrics, Diff. Geom. Appl. 29, 93-100 (2011).
- [7] Chen, X.: Quasi-Einstein structures and almost cosymplectic manifolds, Rev. R. Acad. Cienc. Exactas Fis. Nat. Ser. A Mat. RACSAM. 114, 72 (2020).
- [8] Catino, G.: Generalized quasi-Einstein manifolds with harmonic Weyl tensor, Math. Z. 271, 751-756 (2012).
- [9] De, K. and De, U.C.: A note on gradient solitons on para-Kenmotsu manifolds, Int. J.Geom. Methods Mod. Phys. 18, 2150007 (2021).
- [10] De, K. and De, U.C.: Almost quasi-Yamabe solitons and gradient almost quasi-Yamabe solitons in paracontact geometry, Quaestiones Mathematicae.44, 1429-1440 (2021).
- [11] De, K. and De, U.C.: δ-almost Yamabe solitons in paracontact metric manifolds, Mediterr. J. Math. 18, 218 (2021).
- [12] Ghosh, A.: Quasi-Einstein contact metric manifolds, Glasgow Math. J. 57, 569-577 (2015).
- [13] Huang, G. and Wei, Y.: *The classification of*  $(m, \rho)$ *-quasi-Einstein manifolds,* Ann. Global Anal. Geom. 44, 269-282 (2013).
- [14] Kaneyuki, S. and Williams, F.L.: Almost paracontact and parahodge structures on manifolds, Nagoya Math. J. 99, 173-177 (1985).
- [15] Pan, Q. and Liu, X.: A Classification of 3-dimensional Paracontact Metric Manifolds with  $\phi l = l\phi$ , J. Math. Res. Appl. 38, 509-522 (2018).
- [16] Satō, I.: On a structure similar to the almost contact structure, Tensor (N.S.) 30, 219-224 (1976).
- [17] Wei, G. and Wylie, W.: Comparison geometry for the Bakry-Emery Ricci tensor, J. Differ. Geom. 83, 337-405 (2009).
- [18] Zamkovoy, S.: Canonical connections on paracontact manifolds, Ann. Glob. Anal. Geom. 36, 37-60 (2009).

## Affiliations

KRISHNENDU DE **ADDRESS:** Department of Mathematics, Kabi Sukanta Mahavidyalaya, Bhadreswar, P.O.-Angus, Hooghly, Pin 712221, West Bengal, India. **E-MAIL:** krishnendu.de@outlook.in **ORCID ID:** 0000-0001-6520-4520

UDAY CHAND DE **ADDRESS:** Department of Pure Mathematics, University of Calcutta 35, Ballygunge Circular Road Kol- 700019, West Bengal, India. **E-MAIL:** uc\_de@yahoo.com **ORCID ID:** 0000-0002-8990-4609



FATEMAH ALMOFARREH ADDRESS: Department of Mathematical Sciences, College of Sciences, Princess Nourah bint Abdulrahman University, Riyadh 11546, Saudi Arabia E-MAIL: fyalmofarrah@pnu.edu.sa ORCID ID: 0000-0002-2116-7382